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CTIONS TO PUPILS

7 not tum over the pages until you are told to do so.
‘ow all instructions carefully.
nawer ALL questions.
«re NOT allowed to use a calculator for this paper.

{1is quastion paper consists of 8 printed pages (inclusive of cover page).



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 cary 2 marks each.

For each question, four options are.given. One of them is the commect answer.
Make your cholce:(1,2; 3 or4). Shade the comect oval (1, 2, 3 or 4) on the Optical
Answer Sheet (OAS). (20 marks)
1. In 356,174, what does the digit 7 stand for?

1) 7 thousandths

2) 7 hundredths

3) 7tenths

4) T7iens

2. Find the value of 7 x6 -5+ 4 x 2.

1)
2)
3)
4)

29
45
51

3. Cole had 48 marbjes. Hagavaé—ofﬂ;emloJayden,ﬁmalmadyhad

14 marbles. How many marbles had Jayden in the end?

1)
2)
3)
4)

20
22
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4, The figure below Is made up of a square and a circle. The square has
sides of 20 cm. What is the area of the circle? (Take x = 3.14)

7~
A,

1) 31.4 cm?

2)  628cm?
°3)  3t4cm?

4  1256c0m?

5. The table below shows the amount of money saved by 4 children. Which
child saved the most money?

Name Number of $1 Number of $2 Number of $5

coins
Andy
Bobby
Charles
Darwin

mmhm%
m&ma%

Rid|Wn

1)  Andy
2) Bobby
3) Charles
4)  Darwin
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6.  The figure below consists of 4 straight lines. All the 5 marked angles
have different values. Which of the following Is TRUE?

1) 8 +2b + o= 180"
2) 48 +<Zc +2d=180°
3) za +£b =sc + 2d
4) za +rd=sb +sC

7. Simplify the aigebraic expression. 8m+ 7 + 3m - 6.
1) 5S5m+1
2) 5S5m+13

3) 1Im+1
4) 11m+13

Combined ACS Prelim 2016 A4



%mmmhsmmmhammm. Given that

480 pupils did not take past in the race, what was the total number of
pupils in the school?

1) 800
2) 900
3) 1200
4) 1400

9. Which of the following 4 figures below is the net of a cuboid?

ra

() @) @) ()

10.  Mr Wong needs to be at Newton Building for a meeting at 11 a.m. He
needs to take a 55-min train ride from East Station to Newton Station. He
then needs to take:a 20-min walk from Newton Station to Newton
Building. What is the latest ime he must calch the train from the East
Station to be punctual for his meeting?

1) 9.05am,
2) 9.30am.
3) 940am.
4) 950am.

Combined ACS Prelim 2018 A5




A container with full capacity of 100 ml of water started leaking at
12 p.m. The line graph below shows the volume of water in the container

from 12 p.m. 10 8 p.m. Al what time was the container %deater?

Volume of water in the Container (ml)

1)
2)
3)
4)

8
yg

d

b emim] e g

-

8888388

20

10

7/

ECEE TN

0 L

prmimfmime

swmimfmimad s
Tmew

2pm. 1p.m. 2pm. 3pm. 4pm. Spm. Bpm.

1pm.
2p.m.
3pm.
4 p.m.

Combined ACS Prelim 2016
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12.  Acontainer of height 12 cm has a square basa of side 8 cm. The
mm%mumm.ﬁmmmnofmmun

&» }
)
1
i
/]
12 cm
J’-"
25
v %:
-
Bcm
1) 9%cm?
2) 384 cri®
3) 576cm?®
4) 768 cm®

-13. 50 boys in a class was given some marbles to share equally. When 15
dﬁmmawayal!ﬁmarbieslothereslofhebm.ﬂmmstof
the boys had 12 exira marbles each. How many marbles did each of
the remaining boys receive?

1) 40
2) 35
3) 28
4) 18

Combined ACS Prelim 2016 A7



14. The figure below is made up of two identical rectangles. These two
identical rectangles-are divided into 6paits A, B, C,D,Eand F. The
area of B is 10 % of the whola figure. What percentage of the whole
figure is the total area of C and F?

D

1)
2)
3)
4)

30%
35 %
40 %
45 %

15. The figure below shows a square piece of paper that has been folded
along the dotied line. Which of the marked angle has a value of 50°7

1)
2)
3)
4)

a 0 T w

Combined ACS Prelim 2016
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Questions 18 to 25 carry 1 mark each. Write your answers in the spaces provided.
Give your answers in the units stated and to its simplest form whenever necessary.
(10 marks)

16. What is the decimal represented by x7?

Answer :

17. Find the value of 109 x 60.

Answer .

18. Express ; as a decimal, rounded off to 2 decimal places.

Answer :

2 Sub-Total :

Combined ACS Prelim 2016
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21.  In the figure below, draw 4 more straight fines so that the final figure has
1 line of symmetry indicated by the dotted fine.

22.  Water from a tap leaks at a rate of 8 ml per minute. At this rate, how much
water is leaked in 3 hours? Give your answer in litres

Answer : 14

Combined ACS Prelim 2016 4 Sub-Total :




23.  The figure below consists of a square and an equilateral triangle. What is
the value of the marked angle x?

X

Answer : ki

24, Themolapawelb?.4kgwtmmundedoﬂb1decimalp!ace.
Nuisﬁ)emalestpossﬂemoﬂhepamd?

Anéwer : kg

25. 2 years ago, Wendy was By years old. What is Wendy's age 5 years from
' now?

Answer :

Combined ACS Prelim 2016 5 Sub-Total :




Questions 26 to 30 canry 2 marks each. Show your working clearly and write your

answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

28. 1am a 3-digit number. The sum of my 3 digits.is 9. | am a common
multiple of 5 and 8. What is my smallest possible value?

Answer :

27.  The figure below Is fonmed using 2 idéntical squares of side 10 cm and
4 equilateral iangles. Find the perimeter of the figure.

Answer : cm

Combined ACS Prelim 2016 6 Sub-Total :




28, mmnom-mdemm—bwmmum.he
mamdmmmmm.mmmmofm
television.

W

[ — 200 i | °00
1
{ U y L b}
Buy First TV at 20% discount Buy Second TV at 30% discount
Answer: §

29. A pencil costs n cents and a pen costs 90 cents more than a pencil. William
wants to buy a pen and 2 pencils But is short of 70 cents. How much money
does William have? Express your Answer in terms of n cents.

Answer :

Combined ACS Prelim 2016 7 Sub-Total -




30. The ple chart shows the different mode of transport that the 1200 students
take to go to school. How many students take MRT to school?

Answer :

Combined ACS Prelim 2016 8 Sub-Total :
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Questions 1 to 5 canry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require tnits, give your
answers in the units stated. (10 marks)

1. Bala had some money. He used % of it on a watch and -;- of it on a bag,
The watch and bag cost $236.50. How much money had Bala at first?

Answer: $

2. Mrs Lim has some flour and wants to make some croissants. The same
mass of flour is used for each croissants. if she makes 10 croissants, she
will have 280 g of flour left. If she makes 15 croissants, she will need another
20 g of fiour. What is the mass of flour Mrs Lim have?

Combined ACS Prelim 2016 2 Sub-Total :




3. Amdmiemmmwm identical rectangular
ﬂumzmmm;mummm.-mm

of the walkway is 80 cm.
entire walkway? o

e m ——— - ———— - .-

Answer :

4. Theaveragaamountofmo:wy%enandﬂaﬂahashsawlﬂethe

avemgaamountofmomymbenmdcwmhasissad. How much
more does Cedric have than Bella?

Combined ACS Prelim 2016

Answer : $
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5.  The pattem in the box shows part of a tessellation. Extend the
tesseliation by drawing two more unit shapes in the space provided

within the box.

® ® ® L 2 ® ®
L ] L ] L J ®
™ L

L L

4 y L]
[ L ] L 4 ® & L ]
L J L L J » - - L
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“ulions 8 to 18, show your working clearly question and write
“in the epaces provided. The number of marks available is shown in
w1 | st the end of each question or part-question. (50 marks

§

‘0l cost of 6 files and 3 story books is $86.10. One file is $4.55
wor than one story book. Find the cost of a story book.

Answer : 3]

wure belowismade up of a rectangle and 2 identical right-angled
5 with sides measuring 60 cm, 80 cm and 100 cm. The perimeter of
Jure is 420 cm. Find the area of the figure,

Answer : [3]

Combined ACS Prelim 2016 5 Sub-Total :




8. The figure below shows a gnid made up of dots. Three of the dots are
labelled A, B and C respectively. All lines drawn must start and end on dots.

(a) Draw a trapezium ABCD where AB is parallel to DC and DC Is twice as
long as AB. Label dot D. [2]

(b) Draw an isosceles triangle BCE where E Is above the trapezium. Label
dotE. [1]

® ® & .l & L ®

e o o e o o o

» e o B e o o
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9. Susan saves 20% of her salary each month. She found that if her salary
were to increase by 10%, her savings would increase by $20. Find
Susan's salary. :

Answer : 31

Combined ACS Prelim 2018 6 Sub-Total -




Nick and David went shopping together with a total sum of $90. Nick
spent twice as much as David. The amount David had left was $9 more
than what he had spent. He had twice as much money left as Nick.

(a) How much money did David spend?

(b) How much money did Nick have at first?

Answer:(@)____ (2]

®) 12

Combined ACS Prelim 2016 7 Sub-Total :




11.  Inthe figure below, AE = AD = AF. ABCD is a paralielogram. EDC and
BFC are straight lines. ZAFD is 65° and £EAD is 40°

(@) Find £ADE
(b) Find £BAF
A B
‘ F
a0° [/
E D C

Answer : (a) 2]

®___ 2

Combined ACS Prefim 2018 8 Sub-Total :




12 Thnbmgmphbelmshmsﬂw.mu&aofaumywhichmm
tonmtﬂmWofchﬂdmnlneadﬂanﬂthumNmHmﬂng
Estate.

acaB8 B8RS

Number of Families

o
L

0 1 2 3 4
Number of Children in each Family

(a) How many families have 3 or more children?
(b) What is the total number of children in the Sunshine Housing Estate?

Answer : (a) 1]

(b).

Combined ACS Prelim 2016 9 Sub-Total -




13.

O

Circular Paper

a)

b)

Combined ACS Prefim 2016 10 Sub-Total :

Aunty June has a rectangular noticeboard and some circular pleces of
paper of diameter 40 cm. She cuts all the circular pieces of paper into
semi circies and decorate the entire noticeboard using all the semi-
circles, following the pattem shown below. Each piece of semi-circular
paper is in contact with those next to it.

100cm

v

How many pieces of circular paper does Aunty June have at first?

Find the areq of the noticeboard covered by the semi-circutar pleces of
paper. Takes 3.14.

Answer : (a) 2]

| S




14. Tomand Peter took part in a cycling competition. Tom cycled at a speed
of 20 km/h. Both of them did not change their speed throughout the
competition. When Peter covered % the distance, Tom was 4.5 km in
front of him. Tom reached the finishing fine at 11.15 a.m. What time did

Peter reach the finishing line?

Combined ACS Prelim 2016 1 Sub-Total :
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15. A signboard wae-demonstratekiwith flashing bulbs of 3 colours. The
red buibs flashed every 6 seconds. The biue bulbs flashed every 12
seconds. The yellow buibs flashed every 18 seconds. All the bulbs
flashed together at 6 p.m. How many times would all the bulbs flashed
together from 6:06-p-m-1t00:395p.m-7-

600 p.m 1o 630 pw?

Answer ; 4]

Combined ACS Prelim 2016 12 Sub-Total -




16. WWMWMZMhaMMm&y. Each
coin was either a 10 cent coin or a 50 cent coin. In addiion, her mother

putina $1 coin in the piggy bank for every 5 days. The total value of
the coins after 165 days was $128.40.

(a) How many coins were there altogether?
(b)flwmmyﬂoenﬁsoohsdﬂ%mhﬁﬁdays?

Answer : (a) [2]

(b) i3

Lombined ACS Prelim 2016 13 Sub-Total :




17. At 8 aum:, Mr Jacobs tumed on 2 taps to fill up an empty fish tank. Water
fliowed from each tap at 2.5 litres per minute. At 8.25 am., he tumed off

Mmam-mommmmﬁmm%ummm
(3) Whatwas the capacity of the fish tank?

(b)  Thefish tank has a length of 100 cm. Its length is twice of its
breadth. What is the height of the fish tank?

Answer : (a) [2)

(b) (3

Combined ACS Prefim 2018 14 Sub-Total -




18. Box A and B contained some red and blue ribbons. in Box A, the number

ofredrhbom.mé of the number of biue ribbons, In box B, the ratio of

ﬂmmnbwofrodrhbombﬂnmmberoﬂhebborbbommazl
ThemnberofribbombBometwbemammbardrhbmsin
Box A.

(a)mmmmemﬁocfﬂtenmdmthBoxAtome
number of red ribbons in Box B? Give your answer in the simplest
form.

(b)Thammberolbh.:erlbbonshBowamSOmomﬂmnmenmnber
of blue ribbons in Box A. How many ribbons are there in Box B?

Answer : (a) _[2]

b ______ B3

End of Paper 2

Combined ACS Prelim 2016 15 Sub-Total :
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Q29 3n+20¢
Q30 100-25-40-20=15
1200 + 100 =12
12 x 15 = 180 students take MRT to school
Paper 2
Q1 SN ery 24,236.50+22 10.75 — 10.75 x 24 = $258
Q2 280-+20=300— 300+ 5=60—> 60 x 10=600 = 600 +280=2880 g
Q3 2 squares = 1 rectangle, 16m = 1600cm
1600 + 80 = 20 = 20 x 2 = 40 square tiles
Q4 62x2=124,84x2=168=168—124=§44
Q5

—:

: biuyr

Q6

Q7

$4.55x6=327.30 — $86.10 + $27.30 = $113.40 =
$113.40 + 9 = $12.60 cost of a story book

420 — 80— 80 — 60 — 60 =140 — 140 + 2 =70
100x70«-7000,-;-x 80 X 60 = 2400 — 2400 x 2 = 4800 =
7000 + 4800 = 11800 cm’

L

Q9

20+20=1—>1x100=100— 100 + 10=10 = 10 x 100 = §1

Q10a $90 - $9 - $4.50 = $76.50 = $76.50 + $4.50 = David spent $17



x2=934 — 17x§=$s.50=-
£ 00+ $34 + $4.50 = Nick had $47 at first

1107 40° = 140° = 140° + 2= ZADE is 70°

QTIE 180°-70° = 110° — 360° - 110° - 110° = 140° — 140° 2= 70"~
0TS 657~ 65°=50° = 70° - 50° = ZBAF is 20°

Q12 10+ 5= 15 families have 3 or more children
Q1 ¢ 1 “15,35%x2=70,10x3=30,4x5=20 =
/0 +30+ 20 = 135 children
Qi 20=5,240+40=6
30 =30 + 2= 15 pieces
Q131 « 100=24000, 3.14 x 20 x 20 = 1256 — 1256 x 15= 18840 ¢,
Qi ‘0=10.225h = 13.5min — 13.5x 2 =27min =

~am + 27min = 11.42am reached

QIS i ilash together every 36 seconds
1800sec — 1800 + 36 =50 = 50 + | = 51 times

Q16: ' 33,165 x 2= 330 = 330 + 33 = 363 coins
Q16b 128 40 —-133 =054
(17407 10¢ = 17.40) + (156 of 50¢ = 78) is 95.40

Tna saved 174 of 10¢ coins in 165 days

Ql?a2.5x2=5,25x5=125
125 + 5=25=25x6=150 ¢

Q17 100 + 2 =50, 150 £ = 150000cm>
100 x 50 = 5000 = 150000 = 5000 = 30 cm

Qi8ag:7/=16:14,
BoxA —->R:B

s
9
6:9=6:16=3:8

Il L N

Qi8b14-9=5,50:5=10= 10 x 30 = 300 ribbons in Box

3
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